Differential Equations - Class XII

Past Year JEE Questions

Questions

Quetion: 01

Lety = y(x) be the solution of the differential equation,

;g+ytanx = 2x+x2tanx, x € (—727, g), such that y(0) = 1. Then:

Ay(F)-y(-3)=V2
B.y' (5) - (-§) == -2
Cy(@)+y(-5)=Z+2
D.Y (§) +¥' (-§) = -2

Solutions

Solution: 01

Explanation
2

—Z%)C+ y(tan x) = 2x + x“tan x

LF. = o) AN X dx JInseCx ¢oc 5

2

y.secx = [ (2x + x“tan x) sec x dx

25ecx+/1

= ysecx =X
=>y0)=0+1=1=>1=1

=y =x2 + oS X

= y' = 2X - sinx



